LITTLITY DIVISTON

(IOTSE) =

PLOW MOUNT INSTRUCTIONS

HONDA PIONEER 700 and 700-4

PART# 4501-0644

PART# (QTY. DESCRIPTION
1 2792-100| 1 |Plow Mount Weldment
2 HDW2406| 2 |5/16x 2x 3Sq. U-Bolt
3 HDW9060| 2 |5/16x 1-1/2x 4Sq. U-Bolt
4 |HDW9002| 8 |[5/16Flat Washer
5 HDW7058| 8 |5/16 Nylock Nut

Remove the factory skidplate. The narrow end of the mount goes toward the front of the machine. Hang the two rear
5/16 x 1-1/2 x 4 u-bolts in place over thee main tubes in front of the bolts that secure the front half of the frame to
the rear half. You may need to pry up on the floor slightly to get the u-bolts in place. Hang the front 5/16 x 2 x 3
u-bolts in place over the smaller square frame tubes right where they are welded to the round crossmember as shown
in pictures. Install mount onto the u-bolts and secure using the flat washers and nylock nuts. Cut off excess threads.
NOTE: to continue using the skidplate simply mark the u-bolt locations and drill a hole for the u-bolts to come
through, then unbolt mount and re-install with skidplate between frame and mount.

Push tube will pin up to tabs on mount with the wire loop pins included in push tube kit.

Rear U-Bolt position just in front of the

four bolts holding the frame together Front U-Bolt position over the square frame tubes where
they are welded to the round frame crossmember.

Front of

Machine %%

QUESTIONS OR C OMMENTS CALL 320-964-1616 7:00 to 4:30 CST Mon. — Thur.

INST2792PF



WUTILITY DIVISION

(PITSE)

PLOW MOUNT INSTRUCTIONS
HONDA PIONEER 500
PART# 4501-0644

Remove the factory skidplate. The narrow side of the mount goes toward the front of machine. Hang the two rear
5/16 x 1-1/2 x 4 u-bolts over the wide part of the frame tubes about 2 inches in front of the frame gussets. Hang the
front 5/16 x 2 x 3 u-bolts in place over the smaller square tubes just in front of the horizontal crossmember as shown in
pics. Install the mount up onto the u-bolts and secure with the flat washers and nylock nuts. You can cut off excess
threads. NOTE: You can continue to use the bottom skidplate, simply mark the location of the u-bolts and drill skidplate
to match and remove mount and re-intall with skid plate back in place and mount on the bottom.

Push tube will mount to tabs on mount with the wire loop pins included with push tube kit.

FRONT OF UTV. —e— -DONT OF UTV.

Front U-bolt position over the narrower part of the Rear U-Bolt position over the square frame fubes just in front
frame just in front of the horizontal frame member. of the frame gusset.

Front of
Machine

~afmmm Front of Machine

Close up view of rear u-bolt position.

QUESTIONS OR COMMENTS CALL 763-964-1616 7:00 to 4:30 CST Mon. —Thur. INST2792PF






